
20132014

01285293228 28




 
 

1 R V––

2 RsŔ––

3-RRsR– R–R
4–– 

5––

6–2

7

8R
R-R 4–R–R 2

9Ω1–

10––

11 Rs––
12υc/υh2c/υhυh 
13–– 

14––

15––

163:23:12:11∞
17––

18––

19RgRm––

20RgRs––

21––

22RgRs––

23RgRm––

24–
25

 4- 3– 2–1 
26

 
––°03 
27 
28––
295AR1
A22R24  6 
30200Ω

⅓ 
  300-   400-600

31


32 
.64  1-.36  2-.64  7-2 
33 

– 
34 

 
 
35 

 
 

36 
378

888 
382 Ω.m 
241 

39 
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40
˚45 

41 
 

42 
 
 

43 
 

44 
 

45 
 

46 
λhCP 

47λυ
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48
 

49I
R3R
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5080%200500
100 volt
Vsv200v250 

51–.060.60.10.010 
52
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